
X-sect = 6.310E+00(pb)   AVG = 1.010E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =   50000  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =   50000  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =   50000  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =   50000  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =   50000  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 3.499E+02   RMS = 1.092E+02
Tot # Evts =   50000  Entries =   49874  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 9.499E+01   RMS = 4.848E+01
Tot # Evts =   50000  Entries =   48776  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 7.090E+01   RMS = 3.736E+01
Tot # Evts =   50000  Entries =   49160  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 7.125E+01   RMS = 3.755E+01
Tot # Evts =   50000  Entries =   49160  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 5.007E+01   RMS = 3.327E+01
Tot # Evts =   50000  Entries =   49656  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 5.031E+01   RMS = 3.336E+01
Tot # Evts =   50000  Entries =   49666  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG =-7.763E-03   RMS = 1.452E+00
Tot # Evts =   50000  Entries =   49982  Undersc =    10  Over



X-sect = 6.310E+00(pb)   AVG = 3.934E-03   RMS = 1.450E+00
Tot # Evts =   50000  Entries =   49972  Undersc =    13  Over



X-sect = 6.310E+00(pb)   AVG =-1.353E-03   RMS = 1.468E+00
Tot # Evts =   50000  Entries =   49958  Undersc =    23  Over



X-sect = 6.310E+00(pb)   AVG =-1.003E-02   RMS = 1.457E+00
Tot # Evts =   50000  Entries =   49960  Undersc =    18  Over



X-sect = 6.310E+00(pb)   AVG = 1.808E+00   RMS = 8.851E-01
Tot # Evts =   50000  Entries =   48891  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.855E+00   RMS = 8.797E-01
Tot # Evts =   50000  Entries =   48890  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.601E+00   RMS = 8.692E-01
Tot # Evts =   50000  Entries =   49363  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.605E+00   RMS = 8.705E-01
Tot # Evts =   50000  Entries =   49342  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.863E+00   RMS = 8.786E-01
Tot # Evts =   50000  Entries =   48912  Undersc =     0  Over



X-sect = 6.310E+00(pb)   AVG = 1.717E+00   RMS = 8.956E-01
Tot # Evts =   50000  Entries =   49099  Undersc =     0  Over


